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1. Copy the following on OMR sheet in the space provided.
Any one who has spent time in an organization knows that dysfunctional behaviour
abounds. Conflict is frequently avoided.

(Read these instructions carefully and understand them before you start answering
the question)
(88 DRGSen BFEM SOD, FOXLHE B0 F0 LT OFSD DRE DBREIH S0
SeoBousm) .
LU P re 2L sty L K 2 g sf Faliy
2. Write your Registration Number on the Test Booklet.
£ oS Soni OF ewBeS o Fratmsw.
LBy L £0VP1A K
3.  All questions are compulsory. All questions carry equal marks.
O] D0 BHDVOM FOHHBD. OB ERCL HERWO,
At Lt plo g e ir el

4.  Attheright hand top of this cover-page, Booklet Series is given. Enter it in the OMR
Sheet by blackening the oval.
OMR Sheets where Booklet Series is not entered will not be evaluated.

8 556 D PS5 HOID) LBBeT HOH asws50. OMR hef P woBBef HED ovsw o &56 &
Heng) Sohsd.
o088 85 gradd OMR &y Rongeds.

At b e oMy ST 510 ) A1) LA OMR BN by 2 S £0 el s, L L0U@

Mk the Booklet series is the same that is printed on OMR sheet. Otherwise, inform
the invigilator.
OMR &5 s s0@ownds HED, b8 8D eder domd. Boate HEgESO8 BOOLHEBOS.
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1) If DELHI can be coded as CCIDD, how would you code BOMBAY?
DELHI » CCIDD m» 8% 3%, BOMBAY 9 &&¢ore Sobsy?
0Ly /3 BOMBAY S £ 67 2 /3/cCDDSDELHLT .

(A) AIMTVT (B) AMIXVS  (C) MIXVSU (D) WXYZAX

2) If MATHEMATICS = 12345123678, then MAHATMA =?

MATHEMATICS = 12345123678 @08 MAHATMA &s0@)8000)7?
MAHATMA = ? .."MATHEMATICS = 12345123678/

/(ﬁ{ 1242312 (B) 1243221 (C) 1242321 (D) 1242131
3) Oil:Lamp::Wall:?

(A) Smooth (B) Bulb (C) Candle (D) Dark

A3 : HDo: 1 6% : ?

(A) oo (B) oo (C) =088 (D) &=
| § Dagiibag: ST

1Z24 (D) Frr (© o4 (B) 4 (A)

4) Find the oddman out from the following :
58 ot S® BDODEHFOD T BRI,

-L{L,dbf&,;;'a;,}fgtigu
(A) 324 (B) 841 (©) 529 (D) 756
5) Fill the senes.
808 Fe30 Do,
ES L
DKM, FJP, HIS, JHV,
(A) 1GZ B) IGY ©1 LGY (D) HGY
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6)

7

8)

9)

CPAL 2012 (Set - A) 2

In the following series how many pairs of successive numbers have a difference of
2 cach?

8065 Qa0 Fiié® DY A SED0 DO S04, 8a° Job 60T

| &R E L)L s i fmd L sE
6412287421538679
(A) 3 (B) 2 () 4 D) -5

Fill the series with appropriate figure.
808 FH3D HBowid HB0S DoDHos.
_Z_:,J;.l;'dl;.f.rié (_PU#J:"

OS] ?
(A) ® (B) | ©) @ (D)

Deepu is the brother of Bhushan. Narmada is the sister of Mahesh. Bhushan is the
son of Narmada. How Deepu is related to Narmada?

6%, @ ant, DGO, S, B0and cing, IO, g, H5,65 I8, SALD, HEEH
Hizy Dsogymeto 7

?r:_:ix‘l;f:,uj&’_;u-%.l;;b’ujrwj;f -%—u‘fdlj-ﬂ’il.&.f‘-?-dﬁﬁf:fr.;ﬂ
(A) Brother gé) Son (C) Cousin (D) Nephew

Anusha walks 10 meters in front and 10 meters to the right. Then every time turning
to her left she walks 5, 15 and 15 meters respectively. How far is she now from her

starting point?
@5 10 Hobdt) S0 $E, HoF, 10 Lobth b DG SEV0O. HOIS DB HoeD)
Brugrobm SEDHm 5 ot 15 bt O 15 St HEDBLOE, B LOHOBOD

a{;méacd D08 SRE0S* oD
f_Jlgjr*.,;@bfl,%.m:ﬁ;ﬁ.u!LJf-ﬁ;Gj! ._..;I!L{b/'ﬁ' IﬂAuI?.L?: ST #1085
‘.‘Jmuu'y‘-_.ru'ndmr%.lufé.r.e}‘..n.-,LL_;/'-a' 15,9115:5

(A) 15 meters (B) 10 meters (C) 20 meters (D) 5 meters




10) 1ind the missing tcrm in the series
808 dejes’ BTLLO (7) o YOI HBCWD HoE? HPOOWDEW.
_f-.f_{.'[ﬁﬁifjt.;_fﬁ:r‘:l"‘tuﬁz,:"
1, 6, 13, 2, 45, 66, 91

(A) 28 (B) 27 (C) 26 (D) 25

11)  Find the missing term in the scries
8oe) Fe3s8 paarso (7)o RN HB0D Pi§B0? PROOTLED.

NI AP I AN

% 9 529
920 86
A 53 B) 75 ) » ) 2

12) In the [ollowing scries, one term in the series is wrong. FFind out the wrong term.
5065 o@D FBSP 28 Do B0 CNBWEDD, B, CVBDED VO BROGUVED.
ST IR Sy T RTS8 DI 1098
2,5, 10, 17, 2GESNNN. 81

(A) 81 (B) 26 (C) 37 (D) 10

13) A, B,C, D, IZand I are sitting in a circle. A is to the left of C, B is between D and I
and I is between D and C. Who is to the left of B?

A, B, C, D, E oot F 28 eod thbp @msssnd® sntmed. A o 58 C 8 o
85, B o3 58 D sooom | o 50565, FF 08 58 D svoo C 8 s e &R, 1B 8 ads
DG DBHTOT

e LI L EiDS 2B e oL WS CT2A G & Slo 25 LIENIE D «C B A
Ce 0 L VBT e Ll s L Caid L 21

(A) A (B)y D (C) E D)y ¢C
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14) In the following diagram R represents Businessmen, S represents honest man and T
represents rich men. Which number will represent honest rich men?

8ot D% ‘R’ srDetiper, °S” deronddme doak ‘T’ oo Krayod.
® DO DEPAVSDHED FHH0EED Kednod) ?
JJ.'-#_"J::T...ﬁ_L.I:'fdlil.ﬁL;JI.FL{ISJ:I,-:_.tfﬁjwiofungﬂfﬁéé_JuCJ}
Ce b S s Sr il o U SERT et S50
R T S |

(A) 3 (B) 2 5{,})’4 (D) 5

15) A cube, painted yellow on all faces is cut into 27 small cubes of equal size. How
many small cubes are painted on one face only?

&8 HODBVVL OF FaYo HF BorH B, RN 27 DY FDBLNP EFBYH, DR POBHVODH
2t H0PHVHLD HRB Ford Gotwod?
LSS AL AT S L KA AL L0303 AL
TEZ
(A) 1 (By 12 (C) 8 (D) 6

16) Count the number of squarcs in the Fnllﬁwing figure.

808 HEHDS O SECTeeD By T
el S L LS
kA): 1% (B) 10 © 9 (D) 18

17) Count the number of triangles in the following figure.

800 HhEd® OY Bebadven S0P 7 ?u:?-:vﬁgpc-fjé’:{—wﬁuf,i
(A) 24 (B) 20 (C) 14 (D) 18
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18) The four different positions of a dice are given below.
Which number is on the face opposite 67

FRenID FORDISE &g w8 DS wRHOB0E.
650 XSEHR & D0 DO

Wi f P s Lbrup Ll sy e Ly L s

(A) 2 B) 1 €) 4 (D) 3

19) Sclect the suitable figure from answers, which substitute the question mark in the
following,

800 cBMED DBREDHRY) DOBS® H0G e HIEREED DERY DL 7) &Y rgema"ﬁ

RODEDBERTR DiEi0s.
-i-.f.-".ﬁ?[f'"!ﬁp .,-«-'b*di:LT{.;JuE;,glrabﬂJﬂid:F.’-’:é_J

T3 e

w ] ®[)] o= o

20) Iind out the suitable diagrams to represent the following elements.
Potato, Vegetable, Cabbage.

Lo umainﬁm&é Bdiann) Dot DB d:ugoﬁ:am
@entigen, ERGRODHeD, 52858,
—LIIJIF;"I/_L’IL,#P&LL;Jﬁ’qubfbtiezﬁ

S ooy AT
o @D OO0
o @&
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21)  Which of the following is Maharatna Company?
Eorardd® s’ Soad D7

P%J&'{Lﬁr‘:)[q’(}'}fa—uﬂd}' 4
(A) NTPC (B) NMDC (C) NALCO (D) BIIEL
22) Who is the Governor of Reserve Bank of India?
(A) Yaga Venugopal Reddy (B) . Bimal Jalan
(C'}y  Duvvuri Subba Rao (ID) None of thesc
oab; 2ok 8D 0G0 (566 DB 7
(A) obaon Sea6%6 3G (B) 2soSaens
}g‘,} EDEIRO f0eRoeg) (D) odER siH
?L,{_-‘u):(}z.r"&y:h.ﬁ-.-@u'{z
Wit (B) SIS 8 (A
iﬁdﬁ;‘-tﬁu}’ (D) IV PITY) (<)
23) Who is the Chief Minister ol Karnataka State?
(A) Yediyurappa (B) Kumara Swamy
(C) Sadanand Gowda (D) None of these
5038 0o HVRFOG B ?
(A) o0&ERsD - (B) Ssnodegn
(C) DosSods de8 (D) o58» st
S S Eign L Kt S et .
Sirll (B) Lgds  (A)
S et (D) Wi  (©
24) Who is the author of the book “Five Point Someone™?
(A) Anupam Kher (B) Robin Singh
(C) Arundhati Roy (D) Chetan Bhagat
DS D00LS HHBS” B FSOD EHODHE JHE?
(A) oD $6 (B) o8 bob
(C) eHogbond (D) 3885 2058
AV 20, e L " "Five Point Someone” .
Fuis (B AhH @)
= 2 (D) Ldi  (©
6
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28)

29)

30)

| CPAL 2012 (Set - A) 8

Sachin Tendulkar made his 100" international century in
(A) Delhi (B) Mumbai (C) Mirpur (D) Chennai
@osRAaD 88e56° HOS Botne,S B 1005 HOSED DG Beeid?
(A) &b (B) &wod &y &obapb (D) 38,
kU £ U001l Ao o S ST o
dg @ 42 ©0 & ® & @
Who is the Governor of Tamilnadu?
(A) Surjit Singh Barnala (B) R.S.Gavai
(C) H.R.Bharadwaj (D) K.Rosaiah
BT 03 55E B P
(A) *»EEROB aozes (B) 5. ash. aman
(C) anS. ub. g6 }D) 8. 69500,
cpuS il Catheartls -
duf- 2T (B) vtsF ez, (A)
Y.L (D) g T8 (©
Who is the Union minister of Home Affairs?
(A) P.Chidambaram (B) A.K.Antony (C) S.M.Krishna (D) Kapil Sibal
S04 G5 TaP 0B DB 7

(A) b. dondo (?{ oB.eod  (C) o%H adS. g5 (D) svShend

?L{.ft-’ffj’d-:rj‘ls-.uhu‘:.ulh .
GF‘:LL-L.! (B) r'/-"*:-té (A)
FH D) B AL (©



31) Who is the finance minister of Andhra Pradesh?
(A) Ponnala Lakshmaiah (B) A.Ramanarayana Reddy
(C) Geeta Reddy (D) D.L.Ravindra Reddy

BOEHES 00 B8 T FOG HHHOT?

(A) dame 0fpD, kB/] o). crabFRoR0E 3G

(C) fmo3g (D) &8 9oz 34

?L[tufu;@;jsﬁ.ﬁj{lfﬂdw};

S48 et (B) i_fﬂut; (A)

ShosmssJi-gi (O 16 (©
32) AP’s Biggest tribal festival ‘Medaram Jatara’ is held in which of the following
districts?
(A) Adilabad  (B) Khammam (C) Warangal (D) Karimnagar
S0SHBSS 08Dy Boad Do ‘Bmto @BS’ & Bepd® AtHE0T

(A) soeend  (B) @0 ey 560658 (D) sbowitsb

?,r_akgpucé"u’iutia“ “Glppinar " nd § BTl piT s
eI o Fu © / B) ATk (A)

33) IIT Ilyderabad is located in which of the following districts?
(A) llydcrabad (B) Adilabad (C) Rangarcddy (D) Medak

@83 - groeend O dend® GOB7?

/(4\'} grcpend (B) es&epend (C) omdg (D) 3ok

ceEnutl’ VT 38T
S D) i © ATk B) AT (A
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34) ‘Sriharikota’ 1s located in which of the following districts?

(A) Potti Srec Ramulu Nellore (B) Chittore
(C) Kurnool (D) Prakasham
‘SRosin’ O depd o ?
AA) 2o Sorsioen Bemcd (B) o8nt
(C) stmen (D) g0
e U U RSt 2888 "
5 (B) KA 8 A
(¥, O | JiS o ©
35) Who is the captain of Deccan Chargers in [P1-5?
(A) V.V.S. Laxman (B) Kumar Sangakkara
(C) Gull Christ (D) Pragnan Ohja
IPL-5 8 58,5 g8 825 st ?
(A) 20005 05 B 58 orses
(€) B2y (D) D fen

et oL 5‘,{14&7;;3;&@”:
LGS (B) c/wu'-’l_d,-d,- (A)
20Ty (D) ek ©

36) Scheme launched by AP state government to assure irrigation to lands assigned to
SC and ST is

(A) Rajccv Jala Prabha (B) Ambedkar Jala Prabha
(C) Indira Jala Prabha (D) Jawaharlal Nchru Jala Prabha
SC/ST o ghedne H3E 5255 80gHBE HEHB.0 PEOHODD HEEo D HIET
(A) oeeiS moDef (B) eo@5,5 aodef
(C) oo sepas (D) assnberd Jsan a0y
e Wt S F128 LT R38 5E 6 UA BRI paT oty
we S Sl (B) wefiz (A)
uySardvsz (D) Wyfus (©

CPAL 2012 (Set - A) 10




37) Who is the Deputy Speaker of AP State Assembly?

(A) Nadclla Manohar (B) Chakrapani
(") Vidyasagar (I>) Mallu Bhatti Vikramarka

BOEHAS 035 HENS HE B HEE DD

(A) iy, s0itamb AT) S5,
(C) Db (D) soey 2 HESRG,
E'pfﬂfﬁ'&iiylﬂ:{l/’ﬁfqy
Juk (®) Pkt (A)
F 8%+ (D) Sl (©

38) According to 2011 census, what is the population of Andhra Pradesh?

(A) 8.46 crores (13) 8.91 crores (C) 8.14 crores (D) 8.12crores
2011 20w S50 HSB0 BOPHES BaaP DOB T

/[’m 8.46 5% (B) a.91 8%y (C) 8.14 8% (D) 8.12 8%
LTS Rt 22T e LGl £ 85161 £ 2011

5812 (D) H/814 (©) 21/891 (B) s/Bd6  (A)

39) ‘Sunkesula’ projcct is being constructed over which of the following river?

(A) Godavari (B) Nagavali (C) Thunga Bhadra (ID) Pcnna
"R00S0e " BN D S0P 5§ wiEl)?

(A) Sioedo (B) wecwaiv (C) #oousers (D) oy

?.?. y'lll:;{dﬁdu.l:(-.t-@{ Sunkesuly'
lt-; (D) IJ'A_/$ (C) 16t (B) U’-UU!( {(A)
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40) The proposed Innovation University in AP is to be established in
(A) Tlydcrabad (B) Visakhapatnam (C) Warangal (D) Tirupan

HOMES “aBRS oPVHYS” SoEHBIN 05,5 IeErentHE00 ?
(A} Fresosend (I3) DEPDEO (C) & (D) 806
sdz b SFF U LR 241 £ 4T o L Innovation University™ 80,/ % %
g7 @ S o© A B ale @

41) The Slogan for “Census - 20117 is
(A) Lveryonc counts (B) Our census, our future
(C) Count on me (ID) None of these

2011 - axpee 85 ding, DaRGo HE?

(A) ©8 ess» 83,9050 (BY 50 awogm S50, 50 PDG.5)
(C) #%) 880508 (D) &8s
CELL RS 2010
SR S (B) FéLir @
S o) Fid ©

42) Who is not the member of Sri Krishna Commitice?
(A) Dr. Sanjaya Baru (B) Dr.Ranbir Singh
(€)  DrRavinder Kaur (D) Dr.Abusalch Sharifl’

8 5% Ba0ddes’ g0, 500 RTHH?

(A) o DoaaD ant (B) e Gedb 2ub
(C) oo 6DHOBE 86 (D) @ waond 565
?af_gﬁf;gf;fd{bifﬁ/t):(&.ufu! 5
aﬁ;{:;;fﬁ (B) ul..:i.:r(ij (A)
h'é';é/“-':j)"(” (D) | J!(.J.ﬁ:l.r}f!i {8
12
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43) Which of the following has reccived ‘Best film Award’ in 2011 Nandi Awards?
(A) Gangaputrulu (B) Prasthanam (C) Maryada Ramanna (D) Vedam

2011 H08 WP G HDBEOTP JOBFS VDR DO?
(A) Sorssoen (B) pamso (C) SooaysoesR @y B0
?L_fJ‘t,L.ufuCpf&ﬁ-,uhugtdﬁ“zcn 15,1;':(5_-..4" g &
ras (D) Lblys (O ﬁﬁ.; ® Sx¢ W

44) Who is the present press council of India Chairman?

(A) K.R.Matthew (B) V.R.Krishna lycr
(C) Markendey Katju (D) 1L.R.Khanna
DB 2ss an SPAS PY,O DD 7
(A) B.wb. SRER, (B) .w5. 45005
(C) Swo,Bab 8y (D) and. =b. par
?L,:_ru,rfurz,guﬁrﬁgh_ﬁu”fud{ ;
ATES T 61 AB) AL (A
£_JT28 (D) 220 ©

45) Who is the AP cader IPS, working as the dircctor of the Special Protcction Group?

(A) Aravinda Rao (B) Swaranjit Sen

(C) Balwinder Singh (D) Durga Prasad

RS DG (25 FBFEOe 6 BoGHDS 866 IPS 8050 IBH?

(A) 858050 (B) %6508 55

(C) edoib bob (D) SodRd

spod AL g p 5T et i AQST L spfral s L s/ 7
L =2y (B) Sk (A
sy (D) Fozd  ©
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46) Smallest Union Territory in India is

(A). Lakshadwecp (B) Andaman & Nicobar
(C) Daman & Diu (D) Chandigarh
B8BTS ©8 D B0 DD oo DO?
/é 05 O (B) evodsnd sooain D5%0b
(C) o, SO0 GES (D) Sobzob :
?;T_,Ljfijkkﬁzﬁ'::.-,fbfﬁ Jﬂédiffl_ﬁ Ol
AFhs 2l (B) PCANNTN
285 (D) s (O

47) Which is the longest river of the following?

(A) The Ganges (B) Narmada (C) Knshna (D) Godavan
808 a3 o808 NEH0VDH HO AT

(A) oS (B) 66 (€©) g5 (D) &oese
/ ?%deinvfr—--.—fuﬁtlibﬂ

Sid (D) A ey s’/ (B) & (A)

48) Which of the following is major produccr of silk?
(A) Andhra Pradesh(3) Karnataka (C) ‘Tamilnadu (12) Assam

800 S VSR DEBHP GBH DV o0 DB ?
(A) ®sop0ds wﬂ gopts (C) sudaeth - (D)) oo
‘?-::.'..L.;ﬁ;hl..g;uLJJr:zJuc.:.--"EJ‘_}J&J_'EE;JJ
AT @ see ©  HS B JgpET WA

49) Who is the biggest producer of cashewnut in India?

(A) Andhra Pradesh(I3) Assam (C) Kerala (D) Karnataka
sBBH08 B8 HEom BEHD,D DoBoB oeg0 DO?
(A sogeds (B) oo (C) B¢ (D) S8

T%J:‘EJUJ&;UC;lﬁaJL}JKKJ:MLJL/JUP!AR
St o 1L © T B AT A
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50)

51)

52)

53)

CPAL 2012 (Set - A)

A bag contains 20 red balls, 10 blue balls and 15 whitc balls. If a ball is drawn at
random, what is the probability that the ball is cither red or bluc?
28 HOOH? 20 P wOoe, 10 HD poden SO0k 15 8 woBIW BoF). a8 D08 abRd)
ﬂéﬁmm&uﬁ@&%ﬁaﬁﬁwﬁﬁﬂm@@cﬁb D0ZRDH DOB?

bl L ri JJJHJ..f;mm.JmJ_fJ.&. ol Lduve Sl

?ﬁJ._EPu,_'i,-ﬁl_,uU&’,g; r:_c}G'L:.

C-l- Il’il
(o D ¢

2

W | 2

(A) (3)

3

The accident rate in a city is increasing by 20% of the value every year. If the total
number of accidents reported at current year is 1000, what will be the total number

of accidents aller two years?
£8 DODBLGERD 28 BHeS5E0 G308, DR 20% DD DEDEIFD. DB HBRERO V0L,
1000 @008, Bt HOBEE BTS & HISHNS SN SVE DR VO, DOB?

S Tie IWJJJJQEJEJL'QU”/"I-{_J".'}:.bﬂ:‘:z{]b}l!&hbdbﬂuﬁf‘_{l

?Jﬁy’ﬂﬁ;ﬁJ&hh

(A) 1200 (B) 1400 (C) 1404 (D) 1440

Sum of the two numbers is 13 and the product of them is 36. What is the difference
between two numbers?

Goth HoRe (s, FnBE 13 SO0 VPTW 36 VoS, & Fokd VoY Bt B0 doB?
i‘fx&)y’uyuimucﬂ? ﬁBEL_,VLuF'JU:hf_ Iﬁ.&rfb/:xu,ﬁ

(A) 5 (B) 4 ©) 3 D) 2

A train of length 900 meters crosscs a telephone pole in 60 seconds. What is the
speed of train in kilometres per hour?

900 okt B Ko & Tev 60 VBOES? &8 BOPIS VOB T3S & Jew A, Btso
o of 86° ot ?

"Jﬂ{.ﬁfdji;‘JJ;I;;»'I'_J/J:ﬁu':;fﬁﬂffu;&.?l-?,}fWUde.a...fl
(A) 45 {(B) 72 (C) 54 (D) 90
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54) What is the value of /1681 ++/26017

V1681 ++/2601 s, Hevd D087
ed =g J V1681 + 2601
(A) 82 (B) 90 (C) 92 (D) 94

55) Penimeter of a rectangular plot is 70 meters and the ratio between length and breadth
1s 2 : 3. What is the area of plot in square metres?

£ PSP Yot G, SR80S 70 ot HOaty DY, Besew DHB 21 3 EanDS?
8 Yoo PN OY BEEE) Hoers?

e 2:3 .,.-—tfréi_:guujp.uu;_}f?ﬂ,iwa’_uwf"_p

(A) 184 (B) 294 (C) 304 (D) 364

56) A can do a piece of work in 15 days and B can do it in 20 days. Both A and B
working together can finish the work in days.

08 D00 ‘A’ 03 58 15 6%wed’, 8 500 ‘B’ of 58 20 Sf2¢ Jabium. & o0t S0%

o8 HO0 Y 6% Hre Sabtwth?
L,L;uﬂuﬁgfrfu'lfJBth-?.rfdjpiu}:m;rfdiﬂig_FfJ:Ju:lﬁfrf.{JA
Lo/
(A) 6.5 (B) 7.5 (C) 9.5 (D) 8.5
1
57) §+§ ﬁf% =
2"'103::&5 Eaen:-mu?
4 5 ¢ 7 6 3 1
S "IV S
129 132 135 139
") 120 ®) 120 © = D) ——
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58) The average age of 24 students and their teacher is 15 years. When the teacher’s age
is excluded, the average age decreases by one year. The age of the teacher in years
15

24 08 DR e SO O SIEROIE Dei0 SADIY, 15 DOBECRD. GRTROME
BOHRD DOKB0EE DFoDS® Dk DD, &8 VOHEG0 BRI, SRERLOINE BADY
R HoBHBoen T
toed L frniies /it Sunliieisfrnlunlyumboa
s pSssattd
(A) 39 (B) 40 (C) 41 (D) 42

59) The average of 6 numbers is 20. If the average of first four is 25, the average of last
two numbers is :

8D D 50580 20, 30563 TentH Do DI 25 BonHSE, OS50 Jot Do Bikn
oRs® 0 50

0owi Wnf b6 777 < ﬁh!'r’ﬁiké Heg- Wh-31¢: 4650

(A) 6 (B) 8 (C) 10 (D) 12

60) Ifa:b=2:5andb:c=6:7,finda:b:c
a.b=2:500mb:c=6:ToowsSt a:b:c =7
?b'rrl,f..,.#b'-'b’a:b:cib?b:c:ﬁ:?uin:b=1:5.ﬁ
(A) 12:35:30 By 12:30:35 (C) 14:30:35 (D) 12:14:35

1 1
61) 1f A=_Band B=<C thenA:B:C=?
A:%B@mﬁ: B=—;-C s A:B:C=?
1 |
A:B:C= 1 Bziculh:EB)I

(A) 2:3:12 (B) 2:3:6 ) 103010 (D) 1:2:10
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62) By sclling a fan for Rs. 600, a man gains 20%. The cost price of the fan is
@8 gREORD 600 BRIV W&, P0% LI OB, &5 S TN, 535 Jo 0B 7

tEn 1S £ T e bu e 20% f._i_ﬁ&/..—,.*,;,r:;;_uﬁnn;’f; o
(A) Rs. 450 (B) Rs. 480 (C) Rs. 500 (D) Rs. 520

63) [I'asola sct 1s sold for Rs. 8,100 at a discount of 10%. What is the marked price?

&5 D8R 10% 050 QDD B 8,100 ERPCHODH ORL,HLONE 63 DFeh ok, HEO

ale) OB Y s 3 .
?Jﬁgf@{::wiJJl;'i:.rf;J:}vda; u!s.lm{.h:.r”ibi-i]ﬂ%ut-: Rygwd
(A) Rs. 8800 (B) Rs. 9,000 (C) Rs. 10,000 (D) Rs 10,100

64) Archana, Ncha and Kiran together started a business in partnership. The ratio of
their capitals is in the ratio of 3 : 5 7. If their annual profit be Rs. 30,000, what will
be Ncha's share m this profit?

28 s EetsHnd® i, e o0 BCHen 3.5 / DNAS Dtperdien o, RUSBOIOBID
HERH NP 3. 30,000 BORHSF i DeOLD LRYBL DOH ?
3000080 20 S1oe3:5: 7@ Bbab PL FLSEs s K L7 UF 0 il

?fﬁg.ﬂ?h"&-zu’:ﬁb‘u"; ,"-':iv_- L

(A) Rs. 10,000 (I3) Rs. 12,000 (C) Rs. 15,000 (D) Rs. 16,000

65) Prakash started a business investing Rs. 30,000. After 4 months, Gopal joned him
with a capital of 40,000. At the end of the year, they make a profit of Rs. 17,000,
What will be Gopal’s share in the profit?

DS50a) 28 TMEHDD BR. 30,0008° HpEoLoBR0. TeentD Jow Bthand Hians @ 55
659, 40,00088 26520 B, DOBBHOBHVD & 2, IS 0. 17,000 LAgHD HDHD,
FiaRd alws, epaitin HoB 7
et fe Ay L e 1,40000J0 el e € S0 f ks b e L\ o 2 ,300000 ¥
¥l oIS L LU C s 170004F L Jb ety
(A) Rs. 7,000 (3) Rs. 7,200 (C) Rs. 7,500 (D} Rs. §,000
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66) A and B3 nvest in a business in the ratio 4 : 5. If 10% of the total profit gocs to
charity and A’s sharc is Rs. 8,000, then total profit for the ycar is :

A soeoin B en 4 : 5 Dad & dépniie) ¢ &8 araRoey) shEododd. HODB00B) eRgOE
10% EPH0 S0D Bthars A @ B8 e, 8,000 engld MoaSLH0nE Ao RoDBER0BY engio
DOB? ) _
et G0 KE 4 LN G LSl fa Ay & B4:5 K L1BIsA
ot Cie My LU SEET bl P EAL 580005
{A) Rs 20,000 (B) Rs. 16,000 (C) Rs. 18.000 (12) Rs. 24,000

67) How much simple mterest will Rs. 3,000 carn 30 months at 9% per annum?

3. 14,0005 9% ‘fﬁé Tt DEGEHD, 30 Fe enth é@ DO 7
a2y I
eSS dr™ e L L 02y 2 L3062 153,000
{A) Rs 625 (B) Rs. 650 (C) Rs. 675 (1) Rs 700

68) At what rate of simple interest a certain suin will be doubled in 12 ycars?
DOB G 0L0d? 508 ABHL 12 DosEgS? aR a‘n&ﬁﬁ deioxy axEon? {ﬁ% dewo /

HoBBoIDS) A
(elr L sib il 2t St 1 AGVIZE Lo Lol fUA il
(A) 7+% pa (B) 81% pa (C) 6%% pa (D) 7i% pa

69) < What will be the compound interest on Rs. 20,000 afier 2 years at 15% per annum?
s, 20,0008, 1 5% 56 T&n8P 2 HoDBEoVK B, BESE D08 ?
A nlT S parflne o> Lorl 7200 15% K& 1,20000
(A} Rs. 6,150 (B) Rs. 6,250 (C) Rs. 6,350 (D) Rs. 6.450

70) 3 men or 5 women can do a work in 12 days. How long will 6 men and 5 women
take o limish the work?

ot DD EEpen S DENDHE Heo B8 HDR 12 Swed’ SoHEDAD, 6 Fod Phipen HOnDo
5 B00B Hew SR & BV OR O'add Sabren?

e L g SIS E S S SIS L #5006 _._,gz_ffg:unzfrs’_{lbf;iﬁg ) 3
(A) 10 days (B) 8 days (C) 6days (D) 4 days
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71)

72)

73)

A man covers half of his journey at 8 kin/hr and the remaining half at 12 km/hr. His
averape speed 1s ¢

@8 53 D150 iR 8 8 /tok Si508%5m O DABD D0 tiRoey 12 80 /150 o
DHATREO BRDLHODE, B VOO 50 D087

L;L.-"'-*’L’:/rd';c.-)[)Jj,.-;df/:"fl?.flnfu!E.JUJL;JLS/"I‘IE‘FLMF i
"err.:l).xhul

(A) 9:% km/hr (B) 10 km/hr (C) lﬂ'% km/hr (D) 9% km/hr

IZach side of an equilateral triangle measures 12 cm. Its arca 1s :

28 pdgeRE Bzban (IS, 2080 JEY 12 H0.£ B0’ & Bzha JTED VOB ?

RSO T Tl S A IR e ¢
(A) 16+/3 cm? (B) 183 e’ (C) 36v3 cm? (D) 72 e’

low many bricks will be needed to constructa wall 6 m long, 3 m high and 12 cm
broad, if cach brick mcasures 18 em X 12 em X 6 cm?

18 w08 X 12 2080 X 6 0.8 DOBRGO 0 O SEes® 6 Hodg DG, 3 BotF 1)
Booaty 12 vod Soby SGe 50 695D BBy ?

._'.J.T.g'-f_ ﬁ;i{ug;;lzﬂﬁd‘:: IZJthJJI,ij:iJlf si-ﬁﬁdwd’d{a&ﬁpd;ﬂjjél

- 18cmx12cmx6cm '

(A) 1067 (B) 1667 (C) 1333 (D) 1567

74) January 28, 2012 was saturday. What day of the week will be on January 28, 20147

28 BRSO, 2012 FRDE0 WOVHT 23 250, 2014 H SRUHD SHEO0D T
¥yl 0146552 28567 _1F K 25 20125 452 28

(A) Monday (B) Tucsday (C) Sunday (D) Wednesday
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For questions 75 - 78, choose the closest meaning of the given words.

75) Agony

(A) Collect (3) Care

76) Govern

(A) amphfy (B)

77) Obstacle

(A) penalty (B3)

78) Magnitude

(A) attitude (3)
For questions 79 - 82, choose the opposite word for the given words.

79) Brave

(A) worsc

80) Domestic
(A} lorcign

81) Guilty

(A) - punishment (B) ecnemy

82) Voluntary
(A) powerful

(B) alrvaid

(B) problem

(B) gentle

(C) Mad

(C) catch

(C) crime

(C) size

(C) destroy
(C) comfort
(C) ignore

(C) compulsory

Pain

stable

barrer

progress

clean

fear

innocent

poor

For questions 83 - 85, choose the correctly spelt word among the options.

83) (A) PRESUMPTION
(C) PRESSUMPTION

84) (A) TETOTLAR
(C) TEETOTLAR

85) (A) REPERCASSION
(C) REPARCUSSION

CPAL 2012 (Set - A)

(B) PRESUMTION
(D) PRESUMPSION

(B) TEETOTALLER
(D) TFTOTLLER

(B) REPERCASSON
(D) REPERCUSSION
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For questions 86 - 88, Select the word which closely fits each sentence.

86) A speech delivered without any previous preparation.
(A) Maiden (B) Novel (C) Extempore (D) Obsolescent

87) A tank where fish or water plants arc kept.
(A) Awiary (B) Acquarium  (C) "~ Nursery (D) Apiary

88) Signaturc of somcone else without his/her permission or counter feiting of a
document.
(A) Forgery (3)  Perjury (C) Ilmpersonation (D) Perdition

For questions 89 - 91, choose the most effective word to fill in the blank to make the
sentence meaningfully complete.

89) To avoid pitfalls, thereisanced for ~ planning of the project
(A) dehiberate (B}  convemiemt  (C) temporary (D) systematic
90) What appears to be a small error in the beginning may tumouttobea _ in
the long run.
(A) decbacle (B) blunder (C) incident (D) slip
91) ‘To substantiatc his arguments, he several references.
(A) cited (B) anounced (C) declared (D) averted

For questions 92 - 94, read the following passage carcfully and answer the questions
given below it.

It is your duty to train and develop your mind and acquire knowledge, as much
knowledge as you possibly can obtain. Knowledge is like a deep well, fed by perennial
springs, and your mind is the little bucket that you drop into it; you will get as much
as you can assimilate. The brain which is the physical organ of the mind, is one of the
two precious products of the acons of Evolution : the other is the imponderable “social
instinct”. This wonderful Brain, whose every convolution represents millions of years
of tume, really distinguishes you [rom the amimals.
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- 92)

93)

94)

95)

96)

What is our duty in order to be free and happy?
(A) To digest knowledge (B) To assimilate food

(C)y “To train and develop our mind (D) To make our selves cultured

Mind has been compared to

(A) Adeepsea (B) Adeepwell (C) A perennial spring (D) A bucket

What is one of the two precious products of the acons of evolution?

(A) Man (B) Repules (C) THuman brain (D) Mammals

Which mirror 1s used as a rear view mirror in vehicles?

(A) Concave (B) Plane

(Cy Convex (D) Concave and convex
SRDREEDOB HiE H0G H FERTEO S0 S SHEIRBOS Bns SO 7
1A) Dersets s (B) w5080 5mE»

(C) sooersed BOmED (D) Dersed svooin Srogpsed S

e bbb LETITE LU LS
chai D) ek © & ® A »
Unit of energy in the MKS system is
(A) Joul (B) Volt (C) ELrg (D) Ohm
MKS Dt586° 538 Soesn S0

) e (B) ey (C) 28 (D) &8

ceergfded LB MKs
i D) sl © e (B J2 (A
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97) Sound travels faster in
(A) Gases (B) Liquds (C) Vaccum (D)  Solids

(550 B30 thowe Srsdum Habedowrin T
(A)  apoo Deego (3) &% Dango (C) &g (D) 5o0® doego
ce 8L T
v¥ @ % © Je ® u”d @

98) If water is heated from 0°C to 10°C, its volume :
(A) Incrcasc (3) Deccrease

(C) First decreascs, then increases (D) First increases, then decreases
5830 0" poeddio 0s& 10° Josfdh 38 Sdth DoxiRnmo deroll SR athrHEon ?
(A) DHEO (B) #rpon

(C) swotd 88 BHTRS DLOHHOD (D) &wow 20 stiars Mot

6T tel e S 10°cro°e S0
< ® ey (A)
e Anrd  ©) —ex AL (©

99) The fying of birds is a proof of Newton’s

(A) [irst law (B) second law

(C) both first and sccond law (D) third law

Dgren DISEE0E® Misgtid dBs, digs Do 2l 64T

(A) 368 Dadsvo (B) Bo&s Habivo

(C) 2ootied svooty Sods dabavo (D) Sords DabHaoo

et LIS R gl Ui g

Jrlysss (B) g A

Jren A (D) Ui et udn (O
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100) Which of the following battles brought an end to the Vijay Nagar Empirc?

(A) Battle of Talikota (3) Battle of Panipat
(C) Battle ol Mysore (D) Battle of Vellore
i ning;cimaﬁ DeADHES DFioeaEn SOBOODHN?
(A) 8955 adogo (B) aedsey oxogo
(C) goreb atngio (D) Semb otugio
fise 2Kl e Fpr i & B A3
Ldedy ® U VAT SV

Lk (D) Lt ©
101) Satavahana dynasty was founded by |
(A) llala (B) Yagnasn (C) Srimukha (D) Satakarm
REENEINR) HOUTY WD ﬁg&umt’b?
(A) Sivendo (B) oozd (C) Soaom (D) woessD
TN e

3/ o) Urd, (© 688 B 1 A

102) The dominant Religion in Kakatiyas period
(A} Buddism {13) Visnavism (C) Jainism (1D) Sarvism

gaEBotng seeod B B0 SRS G007
{A) 263 Foro (3) 3@H> dvso [CW SoBo (D) @580
WK i Y
e @) g © P B) (ilex (A)
103) Who authored “Kumara Sambhavam™!
(A) Nannaya (3) Nannechoda  (C) ‘Tikkanna (1) Allasani Peddana
“Edamed Rogidio O gwowodad?

(A) Bgan, (B) oo (C) a5 (1) @00 B3

?L.Eulf_i;"ﬁ "Kumara Sambhavam”
bl Ul (D) B (© BEL B) Lt (A)

CPAL 2012 (Set-A) 25



104) Whose writings were translated in to nglish by C.P.Brown?

(A) Vemana (13) Nannaya (C) Yerrana (D) Pothana

0.2, 220 DHO BSHORD SO0 BRDOOWIED?

(A) S0 (B) &xo0 (C) o5d (D) &8s
o 2 LSz WUy F S i CP.Brown

By O btz (© Bt (B O (A)

105) Srikrishna Devaraya’s court of pocts was known as
(A) Viaya vilasam (B) Sarvobhisham
(C) Bhuvana Vijayam (12) Mutyala Saralu

8 55 GHosobY B8O HH?
(A) DzHDeRDO (B) o630
(C), g065x daxabHo (1) @oeee dosen
Webl S lie S 2L iyt S

(‘%‘.‘1/ (B) (ka2 (A)
J iy (D) AathsA (O

106) Which Qutub Shahi king was known as Tana Shah?

(A) Abdullah Qutub Shah (13) Ibrahim Qutub Shah

(C) Kuh Qutub Shah (D) Abdul Ilasan Qutub Shah
‘@a0sp Mo Devda HEdaple ooy DB 7

(A)  wapep ol (B) airo Hisd ap

(C)  =d e ap (D) wepd Hedd ap

TEEL i S EE B U e el te

!L&'?ﬁﬂl-{j {H} n':“r.-ﬁ .tb’):f rﬁ.}
- - ¥
Wb 11 (D) Lol (©
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107) The first Capital of Bahumani empire?

(A) Beedar (B) Gulbarga (C) Beezapur (D) Belgaum

DO oo, §D 2D DO?

(A) B (B) oo (C) deniopd (D) Bepo
LS =T ik Kt 5

e ) e ©  SE B e W)
108) Who is known as “Andhra Kavita Pitamahudu™?
(A) Srinathudu (B) Nannaya (C) Allasani Peddana (D) Tikkana
"soEDuw Lepdipni 0F HtBH08 sath?
(A)  Saegotd (B) SoD (C) o»d 255 (D) 8g»
¢ tltl S e tL "AndhraKavita Pitamahudu”
of D)  tadll (© Wt B SS A

109) First mention of the word ‘Andhra’ was made in

(A) Shunya Saptashat {(13) Brihatkatha
() Gatha Saptashat (D) Aitarcya Brahmanam
B0 HOoD B HABH DOES® SJDT
(A) e, D8 8 (B) aysnas
/(,()] (g D8 A8 (D) ®8d0D epeaw,mo
WUl & e s JUF 18" Andhra” 52
W etz (B) JL‘A.fI_.s;- (A)
Faslsk) (D) e ©
110) “The battle of Palnadu™ happend at
(A) Karampudi (B) Karamchedu (C) Pedavegi (ID) Addanki
“Dene abogo” ands HAFo
(A) seB0gms }Bj/ S0 (C) 2638 (D) egod
tdn ool bdsset”

7 (D Suig © slark B Sgef W
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111) Who is credited for introducing Sitar in India?

(A) Sycd Alikhan (B) Amir Khusrau

(C) Abdul IFazal (D) Naseeruddin Khusrau
TR aREBBI0L DS Q&?&J@&S&){gm BHDEB08 7 |

(A) D006 odand (B) @&05 gogoe

(C) oS as (D) DS awpm

Ce F oL FHS S S (Sitan e U0t s i
Sl o e © Sk B e @)

112) “Intcrnational Flowers Festival” in India is celebrated at
(A) Sikkim (B) Assam (C) Meghalaya (D) Karnataka

PBBBT0S ©OBIED VALY DS YT ?

(A) 280 (B) oo (C) aodoeend (D) smes

WLl 4 G L 4 KU A ST D
S D SE (© fo® Fow

113) The first silent movie directed by Dadasaheb Phalke 1s
(A) Alam Ara (B) Kisan kanya
(C) Raja Harischandra (D) Mohini Bhasmasur

DorRIec0ES &, BRI Bese3 Bod VB0 HBLHES?
(A) @00 vo2 (B) 33»s 83

(CY ooe Sm0H0E (D) 37D gR08

?in/g.;l)‘-dC(ﬁJfUﬁJ(&lgv’Labh

o ®) AT @)
il (D) bRt ppls (O)
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114) Who wrote “Diddubatu™?

(A) Gudipati Venkata Chalam (B) Rayaprolu Subba Rao
(C) Kandukuri Veereshalingam (D) Gurajada Appa Rao
“Dgenen” SEm G008 DBSH?
(A) HAared So8er Soo (B) orabaien doenoes)
(C) Sothdre HIotio (D) DS waR0R)
¢t o i~ £ "Diddubatu”
Sldiglls  (B) Aukduss @)

iuylﬂyz’, (D) (aLtI{JU’J;[ﬁ;( (C)

115) Who authored “Koonalamma Padalu™?

(A) Vetun (B) Arudra (C) Atreya (D) Kosaraju
“Endos), Hrren” G508 DS 7
(A) Saro (B) sy (C) ®dan (D) 8s%ceey

U 1527 £ " Koonalamma Padalu "
7L (D) T (© 1T (B) $s%0 (A

116) Who authored “Mahaprasthanam™?

(A) Gunturu Seshendra Sharma (B) Rallapalli Ananta Krishna Sharma
(C) SriSn (D) Devulapalli Krishna Sastri
“&0ars g@g&ﬁo” 0 EHoVOBBD T
(A) thotanth 308 Y, (B) orgfp @mosE) ¥,
AC) 88 (D) BHesp EEHeh
' u;" i L "Mahaprasthanam "
e Sed o (B) ey, ¢ A
$reeSug O S8, ©
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117) ‘Vandemataram’ was first Published in
(A) Anand Math (B) Geetanjah (C) Harijan (D) Kesar

“SOBHERBE0’ B DOLHSS HLHOBF0D?
(A) sHodE {?/ Bepond (C) zroad (D) Soe
TJ{IC‘;‘FUL}’%L*‘"(’}L@WJ”
sA o dr © @ 24T @

118) Where did Quit India Movement Started?

(A) Kolkata (B) Delhi (C) Wardha (D) Bombay
‘B85 moBoin’ BEF00 DS BozFHoD?
(A) Sesm (B) &8 (C) S (D) ePoeran

?Jﬂbj}@{_}hf”.{fﬂjﬁd'}:ﬁin
&F o s © do ® A n

119) When did “Jallianwala Bagh Massacre” happen?
‘BDAHS sperend’ HRGRm0S DD,H 800007
?méu_f”rkf&guuuyg a

(A) 1918 By 1919 (C) 1920 (D) 1921

120) Where did Mangal Pandey’s attack happen in 18577

(A) Delhi (B) Meerut (C) Barrakpore (D) Kanpur
185768 Hoot5eS ol BDHERLD JEHE a0H0T
(A) &9 (B) &oueS (C) euBgRE (D) =&mb

Sty 7 g 2L 21857
MK @ S © Sz B b (W)
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121) Who was the first Viceroy of India?
(A) Lord Lawrence (B) Lord Elgin (C) Lord Ripon (D) Lord Canning

APOEE) ARt Bow SH?
(A) erb erBq (B) erb 20& (C) en od (D) end s2ob
R CLERyEIN O |
G5 D) S8 (© A (B) S (A)

122) When did “Gandhi” return from South Africa?
“R08)” (5§rRE 06 REBBEIVE dD,E BB SRt ?
?E_Tu"érlh._fub‘:ﬁ LQ)TL}HU'J EUi L

_AK) 1915 (B) 1916 (C) 1917 (D) 1918

123) Bhagat Singh, Rajguru and Sukhdev were hanged in the year
G5B 0B, C2lHLD, PSen DD, dodadamn?

?JL;JUJLEJPL))’;IEJ&;uf:)pfpl.rfaﬂcﬁ
(A) 1930 (B) 1931 (C) 1932 (D) 1933

124) Who founded ‘Krishna Patrika’?

(A) Garimclla Satyanarayana (B) Tripuraneni Ramaswamy Choudary
(C) Konda Venkatappiah (ID) Parvataneni Veeraiah Choudary
'Sk B85’ © RHOOBBHD?

(A) toshy v8 oo (B) 8530 cranidego oo

(C) &Rome Sostadon; (D) 265830 Hoax, s

fpufdL L e
d/:gdlrLU&.u{;} (B) I:fl.;t:_.-"-fuff (A)
Sa2ks9Ek, (D) Wity (€
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125) Who translated “Veyyi Padagalu” to Hindi as “Sahasra phan™?
(A) P.V.Narasimha Rao (B) Dasharadhi
(C)  Alwaru Swamy (D) Burugula Ramakrishna Rao

“Sow HEstsen” D Beod ekerto “HERDHE T r S THBH ?

(A) 2.2 SEODBoE) (B) crst®)
(C) oo g (D) . anthe ocesog)apoes)
Wi e ¢t L "SuhastaPhan” 2 7§ #§" Veyyi Padagalu”
Sl (B) S 7o80-d (A
s Sl s (D) Stz (O

126) Who authored *Visalandhralo Prajarajyam™?

(A) Kambhampati Satyanarayana (B) ‘larimela Nagireddy
(C) lakkaraju Basavaiah (D) Puchalapalli Sundaraiah

‘Davenord’ Heoea,0” (JOERR BDODDHDD?

(A) Boefoare] D8 meo0DEE (B) #oave =006
(C) oo 50D, (D) e ootsdon,

ot o f 2= £ "Vishalandhralo Prajarajyam
GLSEE B EusaldiaesS @
Lirdey @ Uzl (©)
127) Who authored telugu novel “Malapalli™?

(A) Kasinadhum Nageswara Rao (B) Kattamanchi Ramalinga Reddy

(C) Unnava Laxminarayana (D) Nyapati Subba Rao

“aneDd"” 8R 8enth HHOV GDHODH aRdd?
(A) s8apEod apid,Bom (B) 8&iod oeapdoRdy
(C) &5 08 peoeabes (D) D8 Denced
?Uguf.,.;n{.d:t;ﬂ‘"mmapalu"
ug;u‘mu{w’ (B) sttt A
-G (D) b‘-’ul:dﬁm,! (C)
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128) Who established “Andhra Saraswata Parishat™?
(A) Kundurti Anjancyulu (B) Suravaram Pratap Reddy
(C)  Ramanada Tcertha (D) Devulapalli Ramanuja Rao

B0 DOR,S DONS T D VEPTID HBHD?

(A) S0y oadaboen BT aossso gevods
(C) {)ﬂmuﬁ@g (D) SHen cesnaces)
?g(fﬁ'é..u/"ﬁ.-:’4t'Fr1fF/w;T“
SLscbyfnir (B) 3. (A
18408 (D) Fpzw (©

129) Where dud first salt satyagraha started in Andhra?
(A) Visakhapatnam (13) Machilipatnam (C) Bapatla (D) Kakinada

SO G, DELIERO BN DS DGO ?

(A) Do (B) sondatyo (C)- emddiy (D) selaed
tdnls fol e s /Sl 14T
5y o Ao A e AVe »

130) Who 1s known as "Andhra Ratna™?
(A) Duggirala Gopalakrishnaiah (3) Kasinadhuni Nageswara Rao
(C) Tangutun Prakasham (I2) Rayaprolu Subba Rao

Em\r:‘jﬁ% 1R DO DS S’

A cofiose B5degisa, (B) spdaegon aeBEsog
(C) &orbotare DS (12) RO RoeRoeR)
febbtbaptldApil
s, 20 Y B ST LIIN STRNON
S-Sty (D) FE80F  ©
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131) Soda watcr contawns :

(A) Carbonic acid (13) Nitrous acid

(C) Carboxylic acid (D) Sulphuric acid

e H6H 300 508 dothosn?

(A) ©20208 waiain (B) D&% esvsn

(C) 5202805 esaipain (1) Do 26 edpsn

F e iy

2i 5L (B) A2 B (A)
2708 (D) 2204010, (©)

132) Which chemical is added to water supply for the prevention of tooth decay?
(A) Chloride (3) Fluoride (C) Bromide (1) Sulphide

BS0BEOIRS) HRDOSEDE HE HEDH0S? D FeaLTRY Seuiyweth?
(A) &38& (B) 290& (C) P& (D) w6

?'QJEFUKJF”FE‘:-SQ{U;),J&F)JJI;LJ.L[‘L;f..fud/dlf;_;ufls
EE (D) Eluz (© ¥uP B 25 (A)

133) Stainlcss stcel i1s an alloy of

(A) Iron and nickel (13) Tron,chromium and nickel
(C) Iron, chromium and »inc (I2) Iron and mangancse
2008 88 Heo 3D cdws, MoFsrsn

(A) 268 Sooain H3S (B) @68, §'anano oot D34
(C) 268, Sianano svoain 8ok (D) 2658 svooh Srotsdido

t e A Li(Stainless Steel)s U "
Foafs 4 B Fod @A)
;’-GJJI;,J’ (D) ,_-_,,..-“:“rr:.’,)‘;!,f (C)
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134) The acid generally stored in batteries 1s:
(A Sulphuric acid (3) Nitric acid
() Tlydrochloric acid (D) Acetic acid

en oo FrRsHorm Denid God BEHL D7

(A) e 08 espsn (B) JeI6 esapao
(C) &80 arsn (D) DAe3E essnadn

s e Bbds 2 iiig it e UL
RKISFE (B) L (A)
MGt (D) S K (©

135) Pollution is not causcd by the usc of?

(A) Wood (B} Solarenergy (C) Petroleum (D) Coal
Ho0KEDIHD B3 B0 Teeld DL SWO HD T
(A) s (B) 6B (C) 2ePdoro (D) =2

:bﬂuﬁ"#!ﬁ’;fﬂ?db}l&ﬂ
OdwisT ® ¢f  »

L5y A

S

136) Tubcreulosis 1s a discase caused by

(A) Virtus (B) Protozoa (C) Malnutrition (D) Bactena

"t mBEIHR &8 B0 DD HLH 7

(A) o0 (B) 2veddan (C) dbgsewss oo (D) enfoat
: %f’Jd—’t‘J‘lj-‘f

L2e Oy SiE © idy B Ui )
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137) ORS, which is used for the treatment of Diarrhea stands for
soboatn D 8R0SE0 536D ma menod® ‘ORS’ 2 8d00ws08,

(A) Oral Rehydration Solution (B) Oral Recharging Solution

(C) Oral Replenishing Solution (D) Oral Reducing Solution
P K b UL Lk £ JL-120RS

S Recharging 3tJ  (B)  (FRehydration 17 (A)
SV @ S Replenishing 3L (€)
138) Parkinson’s discasc is associated with
(A) Heart (B) Liver (C) Kidney (D) Braimn
0,508 Tk B08% Howoio 5OB Got?
(A) thod (B) sedopaw (C) somsbomeen (D) o6
:q_r@g_ﬂifdxﬁu‘”’:g
v o 4L © £ o® U w

139) Widal test is used for the detection of

(A) Malaria (B) ‘Typhod (C') Tuberculosis (D) Yellow fever
ot @2¢36° BOD DOV S "BES 9O 37
(A) odoate (B) &apont (C) Lan@BEIMH (D) 5 atan

P PV U B2 KS e o e Widal
bk DU EE ©  zut B LA W

140) Which of the following glands in the human body is popularly called “Adam’s

Apple’?

(A) Liver (B) Adernal (C) Thyrod (1) Thymus
55D FBB0S® & o) BB 8D "M HHEY?

(A) =e8answ (B) o2gs (C) Poronk (D) &m0

:-‘L.t.lfif(}’)‘.“d_;]r!.r”_J‘_’J}Brl&'!rl!i.‘.uf}!z:!‘uff{.j;;!
s oeLde © Jao® £ ow
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141) Out break of Jaundice is due to

(A) Noisc pollution (B) Water pollution
(C)y Soil pollution (D) Air pollution
s2ay &) B HOD DOBIOL?
(A) o spengEn (B‘r De3 sre0dHn
(C)  d0ef spend@En (D) 0o speng)n
' :.‘L.Jﬁﬂ._ug;i..:fu)ﬁ';
2187 (B STdes )
Gtde () 5ITEE . ©
142) Sceds can be best preserved in
(A) Cool and dry condition (B) Cool and wet condition
(C) Mot and dry condition (D) Hot and wet condition
DBEIHNOT DRt YOS anrP FEOEH?
AK)  Sgoe Sooatn oo & Jae* (B) sSgoe sovay 8om & 8d°
(C) B&oe Sooatn MéEoe é,eg?gaa‘ﬁ (D) B&oe oot 8o é@:’gmﬁ
B SE I LS SO
Aok g (B) o Boagsd (A)
el e S (D) e LSS (©

143) The total number of human car bones are
EHRN WE) DBse ANBEHD WO H0H ?
_ PN RIST NI
(A) 2 B) 8 (C) 6 £D) 4
144) Lixcessive intake of polished rice causes deficiency of:
DR RS DTN, DKM BYRONS D HLIAS S DO 7

!Jﬂ-.':-EJJL?J{FL;!;LL;Jiﬁ‘h;k}djkrﬁguvk

(A) Vitamin A 33] Vitamin B (C) Vitamin D (D) Vitamin K
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145) Iluman blood has the highest percentage of

(A) eosinophils (B) basophils (C) neutrophils (D) monocytes

ai0E SEOS® D Tas0d D HD0?

(A) e (B) ey (C) sngfd (D) ansfpeg
e wrQorlia or LU AU

JELy (D) u"j:}ﬁ- © U B UER W

146) The oxygen content of atmosphere is about
apERDSnHnG? Biad T80 J08 7 :.rz—..,.au'i*Jd’FfTUdImf

(A) 18% (B) 72% (C) 11% (D) 21%

147) Mercury is emitted in to air by

(A) Burning Coal (B) Steam engine
(C) Burning garbage (D) None of these
DS BBHED B S BeendEod ?
(A) 2R seeio Hod (B) ©00 z0ed ooyo?
(C) 80 seetio S (D) Sb=tn
: e;J&.ﬁ&.«ﬁuEuﬂlﬂ
J*"bi;f-! (B) te LS (A)
Sty O teisd (©

148) A fertile soil is likely to have a pH value of
DEDOBRH o alos, B.anS (pH) Hensd o6 7

%Jﬁ;JU&JPHJfffi
(A) 3-4 (B) 8-9 (C) 10-11 A0) 6-7
149) The Larth Day is celebrated on
‘D8 @ D O amHYHoeRanT ' e bbb
(A) 22% April (B) 5" June . (C) 8" October (D) 12" July
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150) Cow dung is an important source of which one of the following green house gas?
B8 D6 0B S08 HSTPH spatu DO 7
: .;‘-.._g;ir?r._{!b’u'fg_rﬂ,g_rfutl.}‘_5.;;#;!&)’5’;5’

(A) CO, (B) Cli, (C) CO (D) N,O

151) Centre for Cellular and Molecular Biology (CCMB) is located in
"ol H6 pen b 80k HndH 0 paired’ D5 God7?
D e CnS KB B ) ke i
(A) Chennai (B)y Delln (C) Mumbai (D) Hyderabad

152) Which gas is associated with Bhopal tragedy?
(A) Methyl isocynate (B) Methyl cymde
(C) Mecthyl cynate (D) None of these

S DAPEOB FnEHE & TOLXY HOT

AN)  £odd pRFES (B) Hopd pd&
(C) B pdes (D) &=
| t gllbe T i
WML B S T ER ()
F et AL (©
153) I'he material used 1n transistors is
(A) Platinum (B) Silicon (C) Copper (D) Nickel
eppbed m:d Dueginn HO?
(A) eedso (B) Rd=d (C) =06 (D) o8&

: ?.”}‘.UFJIL,L'?I::(JL‘:"JL,C/;“-JI}
F ot © vk ® S A
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154) Which of the following is not a digestive enzyme in the human system?

(A) Pepsin (B) Ptyalin (C) Gastrin (D) Trypsin
i B 854 HBPSF, ARDE DoWoIodR o DOT
(A) 2S5 (B) a&» 03 (C) =fs (D) &85

: bnﬂu:bd(@f{-ﬁfc_;ﬁu{j;;ﬁﬂrwdul
oy © A ® =F @

155) Optical fibers used in communication are developed based on the phenomenon of

(A) Refraction of light (B) Daffraction of light

(C) Interference of light (D) Total Internal reflection of light
5880 HIPS® 70E8 8PS P H Db HeBo H SR ?

(A) =pod Sfesso (B) =08 d55550

(C) 208 5885065 (D) Dozpy ©obs 5208 HopsgHEm

: LE%JIJE{JH’J&?;ﬁU#JL}‘_/"';JL':"JU!:.:.-HJI:-‘

FIWLS 0 ® SEILE @A)
EG 0 sF S5 5 (D) cb1s§ s (C)
156) The 2012 BRICS summit was held in
(A) New Delhi (B) Moscow (C) Beijing (D) Cape Town
BRICS - 2012 35mna450 285 aofod?
(A) S 6D (B) =na8, (C) e85 (D) 85eRS

: § =y F ¢ BRICS 2012
vited @ E ©  FLo® b @

157) 19" ASEAN summit was held in 2011 in

(A) Manila (B) Singapore (C) Bali (D) Bangkok
20116 195 ASEAN Dandasn 055 aoBod 7
(A) soder (B) Rotgrs (C) emd® (D) eno=E

1 o Ul £ 20110 J FASEANY 5 19
JED o g ® W@
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158) Who won Ramon Magsaysay award in the year 2011 from India?

(A) Manmohan Singh (B) Sonia Gandhi
(C') Narayana Murthy (D) Nilcema Mishra
ER65 B0 008 2011 DOSEGHOS® CoEdS BT BTCY FoB DHCH?
(A) Soddmanrag wob (B) Doi» mod
(C) ~rorobe SR (D) 5057 Do
Y-S MLV VI V= UL
SLifty (B Foi A
UK (D) Qurgfist (©

159) United States of America Presidential Election of 2012 will be held in the month of
2012 BFHOD B HYSew D Bedd atihHEeon?

: i.:rﬁﬁ:‘utfal.uf..:..l}-"lazly.ﬁ.zﬂlzut.fflm"'rtir
(A) October (B) November (C) July (D) December

160) As per “Transparency International’ ratings of 2011, which is the least corrupt country
in the world?

(A) Newzealand  (B) Finland (C) Denmark (D) Bhutan
90802800 ROBEES’ - 2011 BB0tHO PEI0 HHOB A0 BB B ©0BH0G Biana) ?
(A) #nmenck (B) %pok (C) a8, (D) emerd

%L‘;Jda;f{c.m’(kﬁuﬂ.ﬁ;dl;l.lld:!.;.-jh:
ut¥ (D) S (© ».Ju’ By Wie (A

161) Who is the Union Health and Family Minister?

(A} Kamal Nath (B) Ambika soni
(C) Ghulam Nabi Azad (D) None of these
S0t w63 5008 dHDT
(A) Ssodaeb (B) ®o@ize D
A6} Dero D smb (D) ostnse
c o P et y
drgr B st o)
S ey D TGl (©
41
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162) Who 1s the Deputy Speaker of Lok Sabha?

(A) Vivek Kumar ﬂgr‘Iihulri (B) Rahman Khan

(C) Karia Munda (D) None of these

PEDES Bl DEE D57

(A) D5 HiEnd ofpg (B) 5588 and
AC) s0as swow (D) 5t soth.

?u_'?uf/?uj;iﬁfufﬂ ,
weylrs, (B) d}ﬂj‘.l.rbfl.{fj (A)
F i ety ) iekd  (©

163) As per provisional census - 2011, what is the literacy rate in India?
2011, Banen 85,0 (G02,05 VOESIR) HHGO FREBEIOS BEONIB FHBO OB 7
S VL PSS 817 Ll s s £ 6511 £ 2011

(A) 64% (B) 82% (C) 53% AT 74%

164) Who is the ‘Gnanpith Awardee’ from the following?
(A) C.Narayana Reddy (B) K.Shiva Reddy

(C) Ravva Sriharn (D) Betavolu Ramabrahmam

Boanod’ apid HE BTG Fnd HDE7?

A (A) . meoeaien 86 (B) 8 32008
(C) oar, famo (D) S85%n cesopEn,o
?gﬁﬂ;r_“h!f!é—;u}g 'fu/-:..u':pf:
ia L (B Shofrioy (A
At (D) Sad by (©)
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165) Rajiv Gandhi Khel Ratna Award-2011was awarded to
(A)  Sushil Kohli (B) Gagan Narang
(C) Sachin Tendulkar (D) V.VS. Laxman

2011 HoSBE0S ceelSRod) P& 651§ ward) {5AR8 DK 7
(A) 086 5%p {B) 65655 w508
(C) DS Sotdre,b (D) 2.9.a0%. e&ﬁ
S SN IS s U 20Ny

S ® dAEr
SRt ) PN e

166) Who was the cricket coach for India in world cup - 2011
{(A) Greg Chappell (B) Gary Kirsten (C) John Wright (D)  Stee Waugh
8865 DDHO 8D - 20116 208 ety 555 D57
(A) 86 oo AB) 8 888 (C) o 3es (D) §o»
 EYSBf LSS L2011 0
S D) e © Sl @ drtS W

167) Suresh Tendulkar Committee 1s related to

(A) Poverty (BB) Tax reform (C) Lnvironment (D) Agriculturc
008 Botire,d S8063 308 Howoodos T

(A) orogo (B) Ddge dodpne (C) Dorcnsin (D) @@ ;oo

D e FOE S,
ot ®) =/ (A
=s1,5" (D) Vsl (©
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168) The winner of Wimbledon 2011 Women's singles title is
(A) Sharapova (B) Serena Williams
(C) Venus Williams (D) Petra Kvitova

DoROOS - 2011, AR ?acﬁgaées SO 7

(A) SB5sam (B) 23ar 20D,
£C) DD DDy (D) aep Qa@m
P& L L F 201 A4
J‘J:b;f (B) byl 7 (A)
utijs (D) S ©
169) Who is the present Chairman of ‘ISRO’?
(A) K.Radha Krishnan (B) Kasturi Rangan
(C) Madhavan Nair (D) None of these
QP DB DS DB ?
£A) 3. oxng® | (B) 508 G0t5S
(C) 5ne5S vondb (D) o5t s

¢ grud et gz £ "ISRO"

S 15,5 (B) s . W
S e Lo D) st (©)

170) World’s highest railway bridge in coming up on which river of Jammu & Kashmir?
(A) Jhelum (B) Chenab (C) Indua (D) Beas

DDOWBOS Bep dBOD JF; B BBy, HO0H SE5H B 5O VY,0HDEE ?

(A) deoo (B) o5& (C) =otose (D) &%

?q_};lﬂ;h{djufuﬁ/{yuﬁ&,cg.t'.slfﬂcﬂ,.-fﬂ:: i
GED) s © < B @
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171) The instrument which measures velocity of the wind.
(A) Hygrometer (B) Cryscograph (C) Barometer (D)Anemometer

P Srg 5B HOBGO HTE0e37

AA) p5ttons  (B) 89m5 () wOiopd (D) eRanbows
'i'ct‘_l.-—cji/JT!lI:L:fJi-:"if'_J-LJj_E‘;JJUJJFM

XEl D) Kia © JSLS @) #i By @)

172) Which is the most density populated district in Andhra Pradesh?
(A) East Godavari (B) Hyderabad (C) RangaReddy (D)Visakhapatnam

BOFHAT oL adD0EEte Bep HOT
(A) 8n)BScnso  (BY jrosoeent  (C) Sormdl (D) DaepDi0
i‘g.l.q_-,rfl‘)“uud,ﬁ'uif’g:ﬁ syl palarts .
AU @ il © e ® Ul W

173) What is the length of coastal line in Andhra Pradesh?
BOFHBISS BE 0B ) 0B 7

S P SUS S0 ST paTarts

(A) 927 km (B) 942km "  (CF 972 km (D) 955km

174) Horsley Hills are located in which district of Andhra Pradesh?
(A) Visakhapatnam (B) Adilabad (C) Khammam (D) Chittur

BOGHETED & eepd’ 55D dnd) BoH)?
(A) owgdio (B) soerent (C) o (D) o8»rtH

?UE'CTUU&C?L/Lﬁ:{lfifygg*'ﬂmlcﬁ{ills" .
/% (D) / © ATds ® P PR
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175) Which of the following is the first hydro electric power generation station in Andhra
Pradesh?

(A) Srccsailam (B3) Nagarjuna Sagar (C) Machkund (D) Nonc of these
BOGHEES Hostn Sabass Sndnce 8D soess Bogo SO 7
yi(] &3e0 (B) mooetsyis w6 (C) s»SpoE (D) 6=
?E'Efr?ﬁ'ul{v’“pluﬂﬂukuf}gluiﬂ%quﬁJfﬂz;f;’ﬂwLx
Lo © £ © el ® ST

176) India’s first Sponge Iron Plant was established at
(A) Kothagudem (B) Visakhapatnam (C) Bhopal (D) Kolkata

AP GB ) BkyBoocses Do U RotS D8 Hoatn Savason?
(A) &stndo @) owgoge  (C) s (D) Sose
UAT U b TE gt o s 4
A ©  JiA © AU @) STETERNIN

177) Which article of constitution deals with President’s rule?

BREE 0oan0ri08° DA BRSS CoHDE RN (HOOD BP0 T

Ce bbbt ared L e
(A) 372 (B) 356 (C) 368 (D) 370

178) Which among the following was added in the prcamble to the Indian Constitution
through 42" constitutional amendment?

(A) Socialist Secular  (B) Democratic (C) Sovereign (D) Republic
128 DeER O DG CRg0P GREB CREROLS HOELH BwDEHE HD?

(A) s 5988 (B) gendegos  (C) doged (D) oogh

'ilggJ L:QF:JPJL}_(’TVUJ/UCJHE&JJ{JEL f--‘}{}:, Tg_,f:d-l;fﬁf I
k(D) AP © Sk B JEeEr
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179) Who among the following are not appointed by the president?
(A) Governors of the state
(B) Chiefs of three forces
(C) Election Commissioners

(D) Ambasadors of other countrics in ourcountry

808 arod DHOD CHHS DADHOS S ?

(A) m&’i daﬁg{im
(B) 8 Swopssoen
KO oRBo 88X
(D) aptsddos® 59 a—f@a; DAE crabanthen
6 S st ) PR S
bz 57 (B) A E = (A)
Sl 6L e ar D) g o
180) The Chairman of Zilla Parishat is elected
(A) Dircctly by the voters
(13) By the clected members of Zilla Parishat
(C) By presidents of Mandal Parishats
(ID) By the sarpanches in the District
eep DOVS DE,OV DD DBYE0LRD T
(A) Do (D8E QY ©350°)
(B) &ep H00ES D0BFS HEHL0
(C) svode HO08 agEHen
(D) eepe g ogoSen
i rfu;"_....a-“'w’;y&ﬁ{é’
ub’;l.:f‘ziﬁ?{d“ (B) Wil s (A)
&4 D parlBylir  (©
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181) Who introduced collector post in our country?

(A) Lord William Bentinck (B) Lord Warren Hastings
(C) Lord Karjan (D) Lord Ripon
0% 3F0H® EBYE HEDD HIFHD DHHT
(A) &8 dDaDO Bt {B) o8 38 o
(C) enb 84S (D) enb 05
s S Sk L
Sy asssl (B) Ll ()
¢t (D) KLY ()

182) Indian president who served for the shortest period as president is

(A) Zakir Hussain (B) Sarvepalli Radha Krishnan
(C) Gnani Zail Singh (D) Fakhruddi Ali Ahmed
OB 5,5 500 DODG 673 PV DT
AA) 5 5oy (B) 8569 coorgS
(C) b @EROB (D) 5508 b ssn s
ORI A L T
S sy (B g G W
2EgNF O Fdid ©
183) Which Chiefl Minister of Andhra Pradesh served for the longest period as Chiel
Minister?
(A) Kasu Brahmananda Reddy (B) N.T.Rama Rao
(C) Jalagam Vengal Rao (D) Nara Chandrababu Naidu
OB D 00 DEDS 6 BOEHAS HNPHOB DHEH?
(A) =R pB50608 (B) .63 cosimoesy
(C) amedo Sotstoed) (D) meo» Sogeren ROHIED
turof Pl lels Foad LT piT el
;uu,_Jul_-,_r: (B) . JiaLaszry (A)
sAEEA 2L (D) ‘im}‘*—:,‘ﬂf ()

CPAL 2012 (Set - A) e



184) 1low many Mandals are there in the state of Andhra Pradesh?
BOFHATS® & B0 dotienen O T
| s e L F g piTet
(A) 1104 (B) 1100 (C) 1108 (D) 1105

185) When was the first Five year plan started?

eSS HoWEE, HeBY BoPoBDED HoSBGO?
7 & o gLs
WU pof o Wi

(A) 1949 (B). 1950 ,LC{ 1951 (D) 1952

186) In which of the following years was the Indian rupee devalued for the first time?
ERER0D DS FGBPOR & HodBES BhowH?

st S/ e d 58 2o

(A) 1950 (B) 1952 (C) 1948 (D) 1949

187) AGMARK is a guarantee of standards of
(A) Quality (B) Quantity (C) Packaging (D) Noneofthesc
"AGMARK’ @56 808 Hiinnsnm amptd?
AA) o (B) Dosnesn (C) »Be08 (D) 58 =%
tetebd L8 S =t AGMARK
Fifleor o HE © s# ® ¢ @

188) India carns maximum foreign exchange by the export of
(A) lron (B) Tea (C) Jute (D) Sugar

QREBBEDE 0B.LH)F DS ERGELH,0 SO HDIS DODHEO R;0° VD0 7
(A) aosio (B) & o (C) asHaes (D) sowwes
Ce bWl sinticntig 5L 21§ b sk
G o ez © &k ® wTo®
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189) The largest revenue source to Indian government is

(A) Railways (I3) Sales Tax (C) LExcise duty (1) Income Tax

OB HahEe DS BB.LS SRR and S5O HO?

(A) B (B) esmgonsy  (C) 88 dnd (D) assiens
Ce by f N iitse rber PSS

J?f- (D) 371 (C) qu'“ (B) %, (A)

190) "Rajeev Grubakalpa® programme was started in which year?
0ol rEresse) HESO D RusEsus® Dbodosndon?
WYV S gt e S

(A) 2005 (B) 2000 (C) 2007 (D} 2008

191) What is the objective of the scheme “Abhaya [lastam™?
{A}  Lesser rate of mterest loans for women
(13)  Un cmployment cradication
(') Insurance 1o agricultural Labour
(1)) Pension 1o oldage people
‘@D R0 HEB0 cing, o Hve?
(A) Sodeton 855 558 dmen
(B) &5 vvRes
(C) s 0D Endod P
@) ssges poss
fe L akis g Ib"(:a I" Abhaya Hastam " -
A€ .60 a (B) J;fcf'l:i{Jrﬁ;;ff (A)
Bty SEpss ©
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192) In which language Buddha made his preachings?

(A) Prakrut (B) Pali (C) Sanskrit (D) Brahmi
mﬁgma‘ae,madﬂ e Poedo?
(A) Segpso (B) 0 (C) ®owyso (D) eple,

¢ s Llubliguf e G I bs

Fi 0 < © e =S @

193) Who ruled ‘Madhurai’ as capital of their kingdom?

(A) Pandyas (B) Cholas (C) Pallavas (D) Rashtrakutas
S0tHg0 craredm RDODR a0 T
(A) domen  (B) S (C) DeHeo (D) ocegErtnen

tpeeF e i gbis
JeA 2L D) uitd  (© wilz (B) Ukl A

194) When Vasco Da Gama reach India?
TRBRE? GREBLT0S D DoBES0S® Hea@dd?

T%JVUIUPJHerjPD
(A) 1398 (B) 1492 (O 1498 (D) 1543
195) Who built Red Fort in Delhi?
(A) Akbar (B) Shershah (C) Jahangir (D) Shah Jahan
GO DB DROVN TROBHDT
(A) ®gb (B) &bap (C) expobiB (D) apenisss
oS E S It

ot @ Ae © L2 ® A W
196) Who was Mohammad Ghajini’s official poet?

(A) Firdoust (B) Ziauddin (C) Abiddin (D) Firoj shah

Boin,5 ad oS 5 OSW?

(A) BoD (B) som»adS (C) o288 (D) 265 ap
oL u}f/ PIVY !’L}fj

g D) ik © oA B ¢/ @A)

CPAL 2012 (Set- A) ool



197) Who introduced Munasib System?

(A) Jahangir (B) Babur (C) Akbar (D) Shah Jahan
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198) Who founded Brahmo Samaj?

(A) Ramakrishna Paramahamsa (B) Raja Ram Mohan Roy
(C) Devendranath Tagore (D) Swami Vivekananda
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199) Who introduced postal, telephone and railway dcpan:menﬁ in India?
(A) Bentinck (B) Lawrence (C) Carnarvon (D) Dalhousic
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200) Who wrote Panchatantra?
(A) Kalidas (B) Vishnu Sharma (C) Bhavabhuti (D) Harisen
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